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v.oood I

m 00000000 OIvOoOooOo3oooooooooooooooo
oooOooooono Kooooo

K =Kt e={(v,v)

D00D00000 K 0000000000000000000000Ow
0000000000000

00000 KOODOOOO (46)000000000000000000
00D00000000000000000000000000 440000
000000

D0 UCR®030000000000000000 f:U—R¥000
0000000 »0000000 POOOD R =TypR3 O

(5.1) R? = Typy f(U) & Ry(P)
000000000 00000000 R3O0O0D0O0O0O0 »0
+ [o]Y ([U]T € Ty f(U), CIREE Ry (P))

00000000000 00000 »000 f(P)000D00000
N Dooooooooooo Yo

000000 Tymf(U) O fu(P), /,(P)000000DO0DODOODO
000000000004200000000000

[fuu]T :Filfu+rflfv7 [fuu]N =Lv
[fuv]T = P%qu + P%va» [fuv]N = Mv
[fuv]T = F%qu + F%va» [fvv]N = Nv

"20170 50 90 (2016 0 50 30000)
DO000the tangent component; O 0 00 the normal component.

00000000000 4400

(52) <fvvu_fuvvafu>:0
gdddddooooooooao

_ 0, 9 9
fvvu - %fvv - au [fvv} + au
r 9 T-T r 9 1N
_% [fvﬂ] ] + _8 ]
[0 1T o
_% [f’U’U] ] + _8
o, 0., 1 0
%fuv— %[fuv] %
B r 9 T-T r 9 1N
- _% [fuv] | + _(9

0
0

fuvv =

p— [ a T-T [
- _% [fuv] | + _7

dddddoooooooo
Vu:_Wllfu_lefva Vv:_Wzlfu_WQva
oo
r_ [0, o]
[fm;u] = |:(9’U, [fvv]:| _Nwllfu_NWff'Ua
r_ [0, o]
[fumz] —|:av[fu'u}:| _MW21fu_MW22fv
00000000ooooooo (5.2) 0

0= {Fovu = Faros fu) = (Fovad " = a1

_ < Li [fw}T]T - {;} [fuﬂ " fu>
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i) T—T o T—T

= <_8’LL [fvv] | - -% [fuv] | 7.fu>
— N(EW} + FW}) + M(EW; + FW3)

AT R AT R ST
- _8’1,[, VU ] _81} uv ] ) u

- 1T - 1T
:<QAMF —eiMMT,h>—wG—WNﬁW
/1o 17 [0 ]t
- < _% [fvv] | - _% [fuv] | 7fu> - (EG* F2)Kext

00000000E, F,GOO0000000L, M, NOODOOODOOOOO
DOW=(W))0DOOOOO0000000000000000

L M\ (E F\ (W W}
M N F G)\w2 w2

gbobooboobooooobooboboboboboboooooobooban
00D00000000(46)00000000000000ds200000
gbooood

(5.9 .KEC£F9<BZMMTT[§ﬂhJﬂaﬁ>

gboogoooooon

s 0000 00000000000000000000000 f:U—R3
00000

00 5.1. 0000000000000 00D POOODOOOOODO
Xp € Ty f(U)0D0D0ODO

X:U3P = Xp € Typ) f(U)

00000000000 e f(U)00 {fu.(P),f,(P)} 0000
Xp = X1(P)fu(P) + X2(P) f,(P)

D0000POOOOOOOD X,(P) (j=1,2) 000000 X;,X.0 U
00000000000000000 ¢>*-00000000000 X 00O
000000000 20

oo f., f,0000000000000000D0000002000 fyu,
fuv, foo 0000000000 DOOCDOODO

00 5.2. 000000000000 f:U—-R*0000000 X0OO
oo

V. [9X]°

ou” T | Ou
O000X 0O «0000000000®000000000000000
OY=Yifu+Yaf, 0OOO

Vy X = leX + YQZX
ou ov

ooooXxX O0yvyoooooooooooobooooooooo

\Y% \Y
—X =V X —X=V X
u 9/0u<r v d/0v

gboobooboboboo

0o000000d f,, f,0 000000000000 f, f, 000
ooooQ

Vosoufu = Tifu+ T3 fo Vojoufo = Tlofu+Tiafo
Vosoufe =Toifu+T3fs  Vojoufo = Tsafu+T%f

2)0o00000a vector field; 0000 O00Oa tangent vector field; 0000000000 0OOa
smooth tangent vector field.

3)0 0000 the covariant derivative; 00 V O “nabla” 0000000 “atled” DDOODODO
00 “The nabla is so-called because it looks like a harp; the Greek word for the Hebrew or
Egyptian form of a harp is ‘nabla’™ 0000
http://www.chronicle.com/blognetwork/castingoutnines/2012/02/20/the-origin-of-the-
nabla-symbol/
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0000000 T (i,j=1,2)0004200000000000000
go0oobooooooobooooOooon
) )
X=X1fu+Xofo=X1—+ Xo—
(5.4) Ou ~ " 0v’
P
v

8
Y = Ylfu+Y2fv - a +Yv2

gooo

VyX =Y1Vy/0uX +Y2Vy,5,X

oX X
=Y [( o Ll X1+F}2X2> fu+<(9 2412 X1+F§2Xz> fv}

0X 0X
+Ys K En LT X +F22X2) fu+ ( 50 2 4T3 X, +F22X2> fv:|

00000000000000000000000000000000000
0000000000 M, =0} (j=1,2) 000000

(5.5) VY - VyX
oy, . 0x, o 0X,
(X15' Y18 +X28 )fu
8Y2 8X2 8Y2 aXQ
(X18—Y1 ey X28 )fv
=[X,Y]

0000000 [X,Y]OOOooOOoooooooooooooooooooo
O0000000D00000D0000000000000000 Y0000
ogbobobooobooboooboobooboobobobon
000000000000000D000000 ds?000 E,F,GO000
000000000000 (U,ds?) 0000000000000000000
gbobooboooooooboobobobobobobooooooboobann
000000000000000000000000000000 Y000
ubgbouoboouoooobobaobabaoo

Ypooo bracket; 0000 OO the Lie bracket.
5)0 00 intrinsicO O O O extrinsic
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0 53. 00000000
fi:R? 3 (u,v) = (u,v,0) €R®, fo: R? 3 (u,v) — (cosu,sinu,v) € R?

000000000 ds?=du?+d?000000f 000000 00 f,0
00000 +1/20000000000000000000000 44000
O0000000000000000000000000000000 $

00000000000 00O004400000000 (5.3)00

1

(5:6)  K=gpg—p

VosouVaoufo — VosaoVosoufo, fu)

oboobooboboo

00 54. 00 f:U—-R*0000000 X,Y DO (540000000
oooo

(VxVyY = VyVxY = VixyY, X) = (X, X) (Y,Y) — (X, Y)))K

000000000 [X,Y]0 (5500000000

oo0oooooooo v-100 O

m J000000000O000O00OOO0 O (6)00000O0DOOODOO
000000000000000000000000O000000 n230
oooooo UvcRrooooooOOOOOOoOoOooo

fUS @ . u™) — ful,. .. u™) € R
0000910000000 PeUyOOODO

6.7 {AP), s fa(P)} = {fur (P), s fun (P)} (fﬂ_;{a)

Oo0o0oooOoooooU0ooooo ywP)ODODOO0OOUOODOOOOOO V220

900000000000000000000000000000000000000000000000
0000D00000D00000000 o' 0 a; 000000
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00000000 (,)0000 f(U)D0000000 ds?2 00000
f000000000000000000O0000000 POOOO (5.7)
0 Tpf(U) D000D000D0000D0000 ds®000000

(5.8) I = (Gij)ij=1,..n, gij = (fi, f3)

0000000 7 0000000000000000det7 >000000
000000007 00000000000000

(5.9) I"'=(¢%) oooo > g gk =0}, =
j=1

0oooooooo

000000000 v0O (u),...,w”) 0000 8" = {z € R*"! ||z| =1}
00000000000 000W :=—dv0000000000000000
OO0 PeUDDOOO We O Tpf(U)0000D00000OOO (5.7) 00
0000000 W= (W) oooo

a n
(5.10) o= W) =~ kZ_lefk.
goooooo
(5.11) Wiy ) = —(f1ye e fa)W.

obooboooobooooooon
II(v,w) := (v, W(w))

00000000000000000 000 (5.7)000000000 I =
(hy;) 0O0DOO

hij = I(fi, ;) = — (fi,v;) = {fiz: V)

000000 000000000000
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00 5.5.000000000000000000000000000 (5.7)
00000000000oo I, I, wWooooow:=1-'I 000000

ooO0oo0 41000000 V-300 O

oobooooboobobo 4200000000000

o0 5.6. 00DOO0OOOOOOO%y=1,...,n0O0000
n n
fis = Thfi+ hijv, vi=—> WFf
=1 k=1

ubodobodabdaod Ffj[l I 0000000000000000000

n

1 Ogi | 091 0Ogij
12 k= A s J W)
(5:12) Y2 Zg <8u3 T T o

=1

0 (5.12) 000 ds?000000000000000

0000000 f; 00000000000000000000f,; 0000000 Tf
0 (5.12) 000000000000000000000000000000 f 00
oooo

n
l
(fiss f) =Y gl
=1
0000000000 g 0« 0000000 gey 00000

(fizs fu) = {fos fr)y = (fis fig) = giwg — (fis fady + (Fins fi)
= Gik,j — Gijk + (fiks £3) = Gin.g — Gigk + (fos £3)5 — (frs fig)
= Gik.j — Gijk + Gkji — (fig> fr) -

ooooo

n

! 1
> gl = 5 (Ging + grii = giz) = Tiji
=1

DDDDDDDDDgSkDDDD k=100 n00000000000 O

0000000000 000000000000000 XO0000
aXr

jX ==
Va/ou {81;3
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oooooo vooooooooooooooboooopoooooooo
O0o00oooo20000000 X, YODOO

(5.13) Rxy :=(VxVyY = VyVxY — VixyY, X)

0000000000O0ooooo ™o

00 5.7. 0000000 (M,ds?)00 POOODODOO0200000
0000 {X,Y}0O {X,Y} O

Xp = Xp, Yo =Yp
DDDDDDDDRX’yD RXQDD POOOOOOOO

00000000 (vY)...,w") 000000000 X,Y 0

3

B0

)
— k —
(5.14) }(__Eil)( S 1}, o

k

ooooooooo nyyDDDDDDDDDDDDgM,F% ooooooooogd
X, YooooooooooX,YOooooooooooooooooooooooo
v-400 O

0000000X,Y eTpM 0000 Ryxy 0000000

00 5.8. 0000000 (M,ds?) 00 POOTpM 020000000
O0 Op 00000000000 Tp 000 {vy,v2} 0000

R’Uhvz

(v1,v1) (v2,v2) — (v1,v2)°

(5.15)

000 {v,v2} 0000000000

0000000000 000000000000000000 540 0 X,Y OOO
ooooooodooobooooooooobod O

7000000000 R(X,Y,Z,T) := (VxVyZ—-VyVxZ—-Vxy2Z Ty0000O4000
000000000000000000000000 (5.13) 00000000
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00 5.9. 0000000 (M,ds?>) 00 POOOOOOO 7pM O 200
oooooo I, 0000

R 1 2
K(Ilp) := CAR 5
<’017’01> <’02,’02> - <’017’02>

({vi,v.} 0 OpOOO)
D000, 00000000®0000
00000000000000000000000000000000 (@™

00 5.10. 00 n 0000 MOOOOO f£: MR 00000 ds?
o000 MOOOOODOOODOOOODOOoOoODOTpM OODO 2000
OO0 IIp0000ODODOODO

K(Ilp) = det <H(U1’U1) H(Ul’l’?))/det <<”1avl> <U17v2>>
I(vz,v1) (v, v2) (v2,v1) (v2,v2)
({v,02} 0 T 00D

gooopoooo 7o fooooogooooo

» J00000000000000000000000000 0000
00000000000 RPT' 000000 f: M —-RYP' 0000000
0000000000000000000590000000000000
00000000000000000000000 90

00 5.11. 000000 MODDDODOOOO f:M—RW 0000
0ds? 0000 MOOOOOOOOOOOOOOOO0O0O7pM OOOO
2000000 IIp00000O0DOO

K(Ilp) = — det (Il(vl’vl) H(UI’UQ))/det <<”1>”1> (’v1,vg>>
I(vy,v1) II(va,v2) (v3,01) (2, v3)
(fv1,02} 0 Tp 0O DO)

oooooooo oo foO0booo0oOooooo

8)0 0000 the sectional curvature
90000000 0DODOO0O0O0O0On (v,vy=-1)00000000000
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U 0 A%

V-1 00540000000000

V-2 [0OO0OO00OR"000 UOO0O00O0O0OOOO0DOOOO0 f:U—R*'0000
0000000000000D0D000000000 h:U—=RM' 00000
00000000000000000000000000000000000
0Ooooooooon

V-3 00550000000000

V-4 00000 X,Y O (5.14)000000000000000 (5.13) 0 Rx,y
000 X%, Y*(k=1,...,n) 000000000000 5.700



